


10. The diagram below shows a right re ;
b cla l: 4 4 - 2 £
and PR=13 cm. g ngular pyramid VPORS. PV = 15 ¢
C = Agy 3
~ [an=0pf
LY Y
L C L > 4
£ (: % s

_ Calculate the angle between the line PV and the base PORS. (04 marks)

. SECTION B: (60 MARKS)

X #
- i

- any five questions from this section. All questions carry equal marks.

(a) Two jugsare similar. The smaller jug has a surface axéfa}"mf 800 cm”
" while the larger jug has a surface area of 1250 cm?. The smaller }
has a volume of 1280 cm’. Find the volume of the ‘




13.

35

16.

14.

(@)  Represent this information on a Venn diagram (08 '"Qf‘/cy)

(b)  Find n(¥ n E NK). (02 Margy,

(€)  What is the probability that a supporter chosen at random, SUpportg
only one football club? (02 Marks)

A cylindrical metallic pipe of length 7.7 m has an internal diameter of 14 e
and an external diameter of 28 cm.

() Calculate the volume in m? of the metal used to make the pipe,

(06 markg)

(b)  Ifthis pipe is melted and solidified into a ri ght-circular cone whoge
height is twice its base radius, find the dimensions of the cone.

(06 margs)

(@) A bodaboda cyclist buys a motorcycle on a loan amounting to Shs3 5
million at a compound interest rate of 20% per annum. He is to clegr

the loan and interest within a period of 2 years, in 10 (ten) equy)
instalments. Determine the;

()  interest the bodaboda cyclist pays.
()  amount he pays per instalment.

(07 marks)
(b) A car that costs Ug Shs18 million is charged an import tax at a rate of
130% per car. An importer imports 6 cars. If the exchange rate is
1 dollar ($) = Ug Shs3500, find how much tax the importer will pay in
dollars. (Give your answer correct to one decimal place) (05 marks)

Given that f(x)=ax®+b, (-2)=6 and f(3)=11, find;
(@) the values of g and .

(05 marks)

) (). (02 marks)
© O /' a

(i) 1 (66). (05 marks)

A figure has vertices 4 (-1 3), B (3,5), C(<65), D (-8,3), E(-6,1)
and F (-3,1).
(@) (i) Plot the coordinates of the vertices of the figure on a graph paper _
(i) Join them to form figure ABCDEF. i
(iif) Name the figure ABCDEF (06 marks)

How many lines of symmetry does figure 4BCDEF have? (02 marks)



(¢) Use the figure to determine the lengths of:

(1) AD.

(L)  BE (02 marks)
(d)  Find the midpoint of CF. (02 marks)

(F8

17. In the diagram below OP=p and OR=r, OS =2r and 00 = >p.

(a) Express in terms of pand r the vectors

(i) OR
(i) PS. (04 marks

(b) The lines QR and PS intersect at K such that OK = mOR and
PK = nPS where m and n are scalars. Express OK in terms of

(i) p,randm.
(i) p,randn.

Hence find the values of m and n. (08 mar




